Parts List ..«

EpapUEIN
—— — 2 8 ]
Model: BC20T IR—YYZPa—F 523861






MmEROIEAIZONT

1. BEDITEXDERIE

iEa (BX) - BRBES - BBHRaF - HEZTHREZSLY,

INTEATAR (X BI R DEE TR E ZS RS,

MaEnd THILMESS ] ZIERATZIL,

AT IFERLIZBDIHYFET,
ABRREBEDEFELELKERTLIENHYET,

Fig. DRRIZTDT

AFAMR=UIZFig XX SRBERTLTHYET . <D XX [FAFAM—D
ELORELESERLFET,

o 0 & 0N

EP/Y N

L U v 1~2
R AV Qrio 220 Ly sl SUIIZY D2 1) B 3~6
K3 A ROAVIN () F B 10 2 S 3 B 7~38
4. TD0 (FvTLA, BEEUD) e 9~ 10



1. BC20T
N




RHEES | BRES B & L (R & £
1-1 366095 | BC20T 1
1-2 226546 | TUNTDYY 1
1-3 560088 | B 4HYUTRA (TH) 1
1-4 560093 | Y¥7bY7° (TH) 1
1-5 054691 | YUhTY 9347 1 [ 67494
1-6 089738 | 6 HYk Wb 1 | M5x15
1-7 560094 | AnUNIMNIYTATY 34T 1 [ 8744
1-8 560158 | 6 H4# Wb (+)SW(TH) 6 | M5X25
1-9 560161 | ¥ ¥7—2A93:47 1 |10~ 16 794
1-10 560139 | 6 HY& Wb (+) 1 | M6X8
1-11 560147 | NEJKAA 1
1-12 560157 | nE/K'AB 1
1-13 560150 | #I/N 2YH 2VEFYR 1 | M8tEYY
1-14 560151 | v¥9EKvnY 1
1-15 560152 | FA24RY (H)(-WSW 2 | M5X14
1-16 560153 | 6 A9k Lk ()WSW 1 | M5X30
1-17 220549 | F1943—) 1
1-18 560163 | #—A7°L—F (TH) 1 | BIG-M BC20T
1-19 560132 | AJT=% (TH) 1 | ECO3A'IL
1-20 215501 | nJv=% 1T [ ¥y
1-21 560133 | 7A°JL (TH) 1 [ 3Y939t4F /3.5M
1-22 560164 | AUNIL A ThA 1 | E5Y
1-23 560165 | AUMIL B Th4 1 | 3%
1-24 235928 | M)A LN =947 1
1-25 560182 | 3A° 1 |39 -74
1-26 560166 | AOYRMLI{Y 1 |810L1/O 755
1-27 220533 | hahhr o h34T 1
1-28 560104 | ¥ 3AWAVhN =934T (TH) 1 | 29794
1-29 560158 | 6 H9&K Lk (+)SW(TH) 2 | M5X25
1-30 224624 | #Y7— 9 BIG-M 1




2.BC20T T oV

DSD5—R, V)UE

11

i? LT

57

A FE

A | A ESE
‘e 4




RHEE | BaES & 5 EE 1%
2-1 859567 | 1YYy 1 | EE201THT/03
2-2 289667 | Vua 1
2-3 289643 | ' ANYH 1 | T05
2-4 267290 | A%V 2 | M5x20
2-5 272744 | 40914 1
2-6 267049 | ' AUk 1
2-7 269826 | ARV (H)WSW 2 | M5x25WSW *Y4
2-8 289657 | ¥777tV7Y) 1
2-9 266402 | %Y1 2 | M5x55
2-10 273262 | ' AHYb 1
2-11 563353 | M7 hn - 1 |EY)

2- 563073 | %Y1 1
- 563099 | Yk 1 | M6
- 280144 | 4YEVAY (+) 1 | 4x16
- 273674 | h73090-2 1
2-16 280488 | ATUYY 2 | PPL 6001
2-17 261492 | AALY—) 1
2-18 261386 | A4LY—I 1
2- 055185 | C h'4ksr7 1 | H28
2- 261612 | 6 h97 Y%K L WSW 3 | M5x30
2-21 289671 | E'AkY 1
-22 261158 | E'AbUYUY 1
2-23 261036 | E'ARUEY 1
2-24 288520 | Z—NILATYLY 1 | 8E-KV8X11X11.8
2-25 261576 | =497’ 2
2-26 267193 | 4709997030 77)—b 1
2-27 269168 | #79F7tV77) 1 |2829 744
2-28 269169 | 47VFva 2
2-29 269173 | A7 vy 1
2-30 269647 | 47VFEK Wb 2
2-31 269175 | 79y¥ 2 | 6.1X15X1.6
-32 261777 | 9I-7"79v% 2
2-33 563067 | 77UhnN-TtU7 C 1 |34~ 36794
2-34 280366 | 77VhnN - 1 | YIML—
2-35 280314 | 47VFF7430771)—+b 1
2-36 563065 | C h'4kr7 1 [ Y4939 10
2-37 269831 | FA3RY (H)WSW 4 | M5x20WSW
2-38 269991 | 49v3y 1
2-39 280477 | AYa 1 | M5x28WSW
2-40 269423 | YhHTYb 1 | M5
2-41 282403 | 4YEVRY (+) 1 | M4x14
-42 272066 | Y9 #bTEVT) 1 |43 ~ 49 791
2-43 261356 | 0—4% 1
2-44 272067 | 19 =93VAANTEYT) 1 | 45 ~ 49 791
2-45 267401 | 34l 1




2.BC20T T oV

DSD5—R, V)UE

11

i? LT

57

A FE

A | A ESE
‘e 4




RHEES | BRES B & L &% &
2-46 272068 | 1—-FT7tY7) 1 |47 ~ 49 754
2-47 272069 | 1—M 1
2-48 261074 | 7759°%¥v7’ 1
2-49 261075 | 799 1
2-50 261076 | nur9%— 1
2-51 261417 | ¥ 0 29%F9k 1 | M8

-52 280381 | AN—4 2
2-53 261256 | 6 H97 YK L WSW 2 | M4x25
2-54 286739 | AN=97'3Y° 1 | CJ6Y
2-55 269983 | AMZ AA4YFAVT -} 1
2-56 269705 | 387 IRIE VR EVE Y]
2-57 563058 | 3NN 1 | 394vFayq
2-58 273519 | 7U8hin— 1
2-59 269827 | FA2RY (HWSW 1 | M5X16




3.BC20T T >V
JaA JLRAR—A




RHEE | BaES OB & 5 1%
3-1 288684 | JI{WAI—4T7 €7 1 [2~10744
3-2 288685 | A4—47tV77 1 [3~9744
3-3 288967 | ')—) 1
3-4 288968 | ANAFINAT YY" 1
3-5 262922 | #YFAHY2 1
3-6 288969 | 07 7tV7") 1 |7~9744
3-7 288970 | A4—40-7° 1
3-8 261725 | A%—4)7 1
3-9 283511 | A=7°AhUn’ 1
3-10 288971 | A8—47"-)T7tU7") 1
3-11 269833 | 7TA'IRY (+)WSW 1 | M4x16WSW A4
3-12 280489 | TAIRY (+)WSW 2 | M4x20
3- 563038 | 3A°I 1 | BC20T




4.BC20T T oV

FrILE, BHEVD

21

¢ ,\.//,/\.

N
N

% i\




RHEES | BRES B & & &% fi&
4-1 289885 | ¥Y7L4T7tU77 1 |2~1574L
4-2 274472 | KVIHRTA 1
4-3 262991 | N—=U'K'TF( 1
4-4 262992 | KV7hiN - 1
4-5 261874 | 7947 1
4-6 283905 | #'4%¥77L 1
4-7 262993 | B AHFYb 1
4-8 262994 | 8'4%77L 1
4-9 282576 | H'AHYb 1
4-10 285030 | Y1V 1
4-11 261871 | OYuy 1
4- 261876 | vy’ 1

- 261658 | A4~ 1
- 264682 | A%Y1 2
- 262996 | A%Y1 4
4-16 261864 | I AHYb 1
4-17 264691 | 0 Y 1
-18 266420 | 9Y—-+7t07") 1 |19~ 21794
4-19 264709 | 9Y—Fhn'— 1
-20 266433 | H—-AT7tV7") 1
4-21 264695 | ILAVb 1
-22 269834 | A1V (+)WSW 2 | M5x60WSW
4-23 273568 | 4uHT7tU77) 1 |24~ 34794
4-24 273516 | 71—-IL4v) 1
4-25 563032 | 4v9%¥Y7T7EU7 1 | 26794
4-26 269377 | NYRY 1
4-27 289352 | 747w 7) 1
4-28 289767 | 71-IMNATTHEUTY 1 |29 ~ 3479
4-29 289768 | N{7TtYT7Y 1 |30~ 32744
4-30 288192 | #'Arvb 1
4-31 563016 | n'47 1 | 3X5X160
-32 288194 | A—n"—70-N'47 1 | 3X6X85
4-33 264653 | 7AMATEV77) 1
4-34 563014 | 497’ 1
4-35 269828 | TAIRY (W 2 | M5x16W
4-36 281208 | FAIRY (W)W 1 | M5x16W AY4
4-37 563071 | 3A°) 1T | FI-9h1_~M

-10-




|
AR

5. BC20T
ft &

-11-



RHEEE | PBRES i & b (R &
5—-1 221460 | w3 Ah'% 1
5-2 220534 | AYnhn'— 1
5-3 560168 | M)7Yh4tYA4Y3 (TH) 1 | BC20T/26T #h
5-4 210418 | aVE' R YIAANT 1
5-5 219432 | 6 HOEHIANT 1 | ZAunw 4
5-6 022865 | JAVTFANT 1 | 8x10

-12-




eco
©

AEX

Q = LB ETR
BHEHRMERED

HYAE— bt 42— BE 0120-898-114
ZFIFARSRI: AM9:00~PM5:00(.BH. A%k <)

Printed in japan 2014-08.J




